{,
[
R

Signature

Pgs_ (24
”? (4 pts each) For the following, rank the molccuies aecording to the directions given.

A Rank f1 Oﬂ}] least to most acidic, with a 1 under the least acidic and 2 4 under the most acidic moiecule,
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B Rank from ieast to most {eachve vith nucéeo;;gh:les with a 1/ under the least readtive and a’4
under {he most Jeactwe moiecule ,
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f ~ C. Rank from least to most reactive with wicked strong electrophiles, with a 1 under the least }
E reactive and a 4 under the most reactive molecule.
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!- 13- Rank from least to most basic, with a 1 under the least basic and a 4 under the most basic molecule
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F. Think this through!! Rank from least to most acidic, with 2 1 under the least acidic and a 4 under the
most acidic molecule, O
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12. (34 pts.) Write the predominant product or products that will occur for each transformation. Assume
cach reagent only adds once to the ring. If predominartly ortho/para products are predicted, you must

draw both.
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